The first two words on the left of the
sign . " are related in a certain way
The same relationship holds good for
the second pair of words to he
right of the sign ': ' ane of which is 3
missing. Find the missing one from
among the altermatives -

Caconut . Shell - - Letter- 7

(A) Letter box

(B) Stamp

(C) Mail

There are four words out of which

three are alike in some manner, while
the odd one :
(A) Write T
(C) Knowledg | |
(D) Study
rection (Q. Nos. 3 to the g
M A B, C and G are
i s facing at the

the fourth one is different Choose out
(B) Read
lowing infnrmatinr these
estions. .
- .: .:“_.i :ﬂamﬁ,

(i) E is neighbour ofAand D

(i) Gisnot between FandC

{iv) Fislothe immegdaie right of A
Which of the lollopin ot have
the pair of pe@g adjacent

to each nm%"#-ﬁ
"“-‘___\
B CB 1 &

1 ‘I'_ L.
. m
PE+

G

{ Whr:ﬁ of the following pairs has the
econd person sitting immediately io

the right of the first 7
(A) AB

(B) CB

(C) EA

(D) DG

Who are the neighbours of B 7
(A) AandF

(B) CandD

iC) Fandc

{D) None of these
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49 studen The ratio of births of the students in
8. What is his rank from 12
the lagt 7 months of a year are as follows
Jan
‘,{ (A) 18 A o9
Ly February 07 /A
f:j,‘ (B) 19 o
£y ¥\ March . bar o8
(C) 31 ot
UL f a7
- May Q ber 08
7. Saturdaywasa holiday for Repubiic June December 06
Day. 14th of the next month is again The probaplity that the student will
aholiday for Shivratri Vhat day was starting of six months is

iton the 14th ? (A) ‘W4%

(A) Monday ’\@) 54%

(B) Tuesday J(C) 35%

(D) None of the above

10. The monthly income of six servants
B8 in a company are 15, 17.5, 17.5, 18,

28, 30 (Rs. thousands). The number
of servants which have income
greater than mode and less than
mearn is :

(A} 3

® 1

(C) 2

Dy 0

- 8 (3) { Tum over)
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pets drug siluations

wqsiire Gt
11, The following figune is it cHaNpE in blood pressu
w1
)
5 3 — *
= !
(=3 1:u - z
&
i 4p

M5 05 55 P05 ~155 08 65 05

The frequency curve is
(&) Symmetncal
(B) Negatively skewed:
(C) Rightly skawed
(D) Rightand negatively skewed ( \

12. The occupancy rale in a city s ) 81
provided as 81, 83, 83,84, 84, 88/ ™\_ (D) Noneof the above

86, 86, 87, 87, 67, 88, 89, aa.,ﬁ
90,90, 90, 91, 91, 91, 83, 63, 94, A4. Among the five peoples the monthly

incomea s Rs. 15,000 , Rs. 26,000,

94 95 96 the value of the medi

approximately Rs. 16,000 Rs. 19,000, Rs. 50,000
i @& ; ’ - Tha number of parsons which
(8) 90 has lessthan the mean of the income
(C) 895 i5

(D) Nﬂﬂﬂﬂf% (A) 2
13. 2%**=1gkthen x*1s | 3

(A) 8 (C) 4




15 Fﬂrmﬁﬁmythviﬂﬂdy= B-

17. A college has deposited Rs & lac
2x. the paint of intersection of twa from different sources presented in
linesis - Table 1 and can use Mo different
(A) (2.5 saurces presented in 2
(C) (1.4
) (239

16, The diagram shows the number of

branches of five different barks in

Urban and Rural areas |

AN Urban [ 1 Rural

percentage used from ftis

£2

E, (B) 43
;” gzi (cy 50
oy 47

18 The minimum value of x for which

L .C. M. is 300 for observations 20,
25, x5

(A) 45

(8) 30

© 15

oL z%’ (5) (Tumover)
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For the data given balow

Claas Interval Freguency

.,

B=BR 3
B-10 4
10=12 A
12 - 14 i

The maan s 10, the valus of A s

(&) 14
B8y 11 :
Gy 12

(0) Mona pf ihe above

The manthly income of two famifies
A and B are shown by the following

figure r
23

A=A, g6
It the ingome of lfamily '@ J&
Ra. 15,000, then the incame of family
s '

s y .
(8] Always mofe .__re"!'“a!'-'-e
rombaied lo secbggry 0ata

Depen s fhegare wrilh

W #ata hgye TR lecied
O g i B Agenc
alfectingors
rrulative Bpbquency LUrve 1S
MWgpcoglsing
(B) Deécreaking

{C} Incrassing and decreasing

(D) Noneof the aboy

]

Followlng 78 not the method of
coiectng pnmary data

(a)y  Direct Persona! Intennew

(B) Indiract Omal Intenisw

Mailed Questonnaire Meathod

Confd



irecti
on (Q. Nos. 24 to 26) ; Study the (C) 1897 and 1999

ar-chan and answer the questions based

s uﬁ"ﬂ-n of fE'r"l!l'lEErs h? a
mpany (in '000 tlonnes) over the years. 2
§ o 78
g == 80
iR
fal 40
8 o]
E *t
n' Fud-
1958 1997 qona G <000
Yaars
24, What'was the percentage decline in . D)
the production of fertilisers from 1998 ( E
101999 7 (2] {Q. Nos. 27 to 29) : The
(A) 10% ‘ llowing Pie-chart shows the sources of
(B) 20% funds to be collected by National Highways
— 2% Authority of India for a project, Study the
w w‘i_ 1)
. Pie-chart and answer the questions that
(D) 25% follow the sources of funds to be arranged
25. Theaverage pmﬂu:@ and by NHAI for aproject (in crores Rs.):
1808 was exactly to the

ich of the

(7




27, 50% of the funds are to be aranged Dirsction (@ Nos. 31 to 35) ; Read the
though
(A} SPVS

fallowing passags and answer the

questions that foll

(8] Externalassistance
bebased on ih

(C)  Tol
1
28 The central angle corresponding to An_EWSEjstelp s @ region with a
SPVS is: recognizable landscape
{@ @' eych as lorest, grassiand,
18} 18o0®
i welland or coastalafea The
(C) 36°

(D) B4° vium of the ecosystam = based on

: ils geographical features such as
29 Theratioofthe funds io be arran

thmugh SpYg ar_u:l that through hills: mountaing, plains, rvers, lakes,
markel borrowing is - coastal areas or islands. It is also
W 18] contralled by climatic canditions such
[(BY ‘T8

as the amount of sunlight. the
() 1:5

5 s . temperature and the rainfall in the
{ o

region. The geographical, climatic
30, Modeis .

and soil characteristics Tormils nan-

living (abiotic) component These
features create conditions that

None @l the above suppert a community of plants and

Contd



bio-geographical reaims © Eurasia

16 1 In these: speeitic conditions called the Pataearcye.ceaim, South
The living part of the ecosystem i and South-Esst whilh india
referred to as its biotic component forms a Oriental
Ecosyslems are divided into TN T
Siaial bemed R s realm, Soulth América forms the

Neo al Jeaim; Africa the

and aquatic ecosystems in water

Im; @nd Ausiraia (he
These form the two major habitat

conditions for the Earth's living el
]

organisms. All the living organisms ldgecgraphic divisions of the

in an area live in communities of Earth's land surface, based on

plants and animals. They interact with distributional patterns of 1emestrial

their non-living environment, and arganisms. Ecozones delineate

each other at different point large areas of the Earin's surface

for a large number of re within which organisms have been
evolving in relative isolation over long
periods of time. Ecozone
designations are used 1o indicata
general groupings of organisms

based on thelr shared biogeography.

Ecozones correspond to the floristic

HWM this is divided (n0 kingdoms of botany or 200@sc:
(9) ( Turn over)




graphic regions of zoology

Al a national or state level, this forms
biogeagraphic regions. There are
several distinctive geographical
regions in India— the Himalayas, the
Gangetic Plains, the Highlands of
Central India, the Western and
Easlem Ghats, the semi-arid deser

in the West, the Decean Plateay _the

{hess forms a habitat for spacific

plants and animals Ecosystems

Have bean for an lard and in the
sea by ewolut hat has created

ogefher in a specific

SpECIES
regior Th syslems have both
noyr-ving ahdfiving components that
are lyp o an area glving its own

araclenstics that are easily

ofagrved

Coastal Beits, and the Andaman and
Nicobar lslands, Thes \zz‘ Iiving commuriity. of pisnts and

E ’
geographically distinctive area

non-living companents of the

have plants and animals thatkave

been adapted ta live in

mangr wamps in dellas.

mhs. sl to give only

uﬂWﬂ. Here too each of
Dt-% (10)

animals in any aréa logether with tha

environment such as soil, air and

water, canstilule the ecosystem

Some ecosystems are fairly robust
and are less affected by a centain
ievel of human disturbance. Others
are highly fragile and are quickly
destroyed by human activities.
Mountain ecosystems are extremely

fraglle as degradation of forest cover

Contd




€ads o severe erosion of soil and
-hanges in river courses Isiand
ecosyslems are easily affected by
any form of human activity which can
lead to the rapid extinction of several
of their unique species of plants and
amimals. Evergreen forests and coral
reefs are also examples of species
rich fragile ecosystems which must
be protecled against a variety of
human activities that lead to their
degradation. River and wetland
ecosystems can be seriously
affected by pollution and changesin
surrounding land use.

Ecosystems are however

disrupted by human actio

plants and anjmals that &)

ems

in the differentna

Foresls are deforested for timber.

wellands are drained to create more

agricultural land and arid
grasslands that are as res
are changed in fields.
Pollution from nd waste
from urban getii also lead to

extinction of several species. The

reason fosghe depletion of natural
urces ofold — our rapidly
xplodin population that needs to

staigf itself on resources, and the
growth of affluent societies, which
consume and waste a very large
proportion of resources and energy.
Increasing extraction of resources is
at the cost of natural ecosystems.
leading to a derangement of their
important functions. Each of us in our
dally lives use a variety of resources.
If tracked back to their source, one
finds that the resources were

ariginally obtained from nature and

natural ecosystems. Our insensitnvty

{ Turn ovet)




31

The Il of piants and animails.

lo using resources carefully has (B)
produced socielies that nature can as influzncing other
no longer sustain,  one thinks belore ©) Theifeol defermined
wasling resources such as water,
by their ors
reusing and recycling paper, using
less plastics that are non- Q) The iCal conditiuns
degradable, culminatively this can a its inhabitants

have positive implications an the

33 Degradatiomfof cur ecosystems

intagrity of our nalural resources
base and consernve |he resources resul

that nalure provides jzeace in animal and plant

The main point in these passages is
thata balanced and successiul eco- infections and diseases in
system

{A) Is nal affected by human

human life

(C)) (Lossaf natural resolirces)
interference

(8) s produced by (D) Lowerproductivity for states

intelligence ;34 Key-stone'species '

(C) Isthe habitat for nan-hu :
(A) Decide the well-being of all life

only
(B) Species that thrive in human
habitat
Fetating 16 “specific eco-
(sysiems’

(D) Specific use of species of

ammal and plant life




35 Which of the following comprises a

holistic ecosystemn 7
(A)  Minerals and Water bodies

(C) Abiolic companen! that is

carafully presarved
(D) The diversity of Biolic Wa?medmlm s thus
gomponants clear Wal “heaith care® 15 not

nanymous with “medical care”
Direction (0O, Nas. 36 to 40) : Read the fa s broad m

following passage and answer the f neisaanl heallh servicen ranging

guestions fhat follow. Your answers shi from health education -and

be based on the given passages information through prevention of
Passage—2 disease, early djagnosis and
treatment and rehabilitation.

Health is a state pf compiete

Health care sarvices may be defined
physical, mental

e —

a5 “all those personal and community

il Sl . health services, including medical
2 preductve g and ot e

care and relaled education and

research directed towards the
protection and promotion of tha

health of the community."

The term “health services” implies
organization, delivery, staffing

( Turm over)
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L L R S

Heallh senices should be organimed
to mesal the needs of enlire
population and not merely selected

growps. Haalth sevices should cover

thiz full range of preventive, curalive

and rehabilitation services Healih

EE1VICES ang now s&an ag parl of the
basic social sarvices of the
community. The bestway to provide
health care o the vast majority of
undersenved rural people and urtran
pooris o develop effeciive "primary
health care” services supported by
an appropriate referral system
Primary health care is based on four
pringiples. They are as follows

(a) Equitable distribution

with special atjém.

needy and vulne oupS

it is well @

populati gl developed

hat rural

ely scattered

a not'have adequaie

(14

-

ransportation lacilition, Cily
hospitale are beyond he rengh

of most turil pecple and ane

wsually patronized by those in

nnr%&mnas as near

opile’s 1 as possible and

%eu by a higher leval

!?ﬁh care. to which the
iant can be refamed

} JLCommunity participation - The

\ involvement of individual
families and commuriities in

promation of their health and
welfare, Including self -care, s
an essential ingredient of
primary haalth care
Community involvement also
implies that the cammunity
should participate in the
planning, implementaion and
maintenance of heallh

services

Contd.




(c)

(d)

Multh-sectanan approach it
effort of the heaith sectar and
ather haaih felated seciors viz

educntinn. food and

agriculture, sogial welfare
animal husbandry, housing and
Public works rural
reconstruction et gre needed
for attainment af health,
Appropniate tech nology
Appropriate technology Is not
cheap primitive technology for
poor, primitive people It call
Instead for scientifically
materials and methods that are

socially acceptable, mw
against relevant’ alt

prablems.

The lerm “pulllic heall
into gene around 1840
[t arose o protect
‘the the spread of

mmunifable diseases.
Laleg'il appearad in 1848 in the

name of a law, the Public

Ol -28/38

Yale Unjversity, gave

phquoted definition af public

‘walih. The WHO Expert
‘Lommittee on Public Healil

Administration, adapting
Winslaw's earlier definition has
defined it as - “the science and
arn of preventing diseass,
prolenging life, and promoting
health and efficiency through
grganized community efforts
for the sanitation of the
‘enviornment, the contral of
communicable infections, the
education of the individual in
personal hygiene, the
organization of medical and

nursing services for early

{ Tuwm ower)

[



diagnosis and preventive
treatment of dissase_ and the
development of social
machinery (o ensure for every
individual a standard of living
ddequate for the maintanance
of health, so organizing these
benelils as to enable every
cilizen to realize his bithnight of

health ard largevity”

38. Health refers to

(A)

Complete physical, mental and

social well-being irespectiva

of one’s economy

Availability o to all at
low
Av nutrition and

(18)

Animal husbandry contributes to the

37

good health of 8 ancialy

(A} By providing peftter econamy

ntal to physical heaith,

Contributive to the spread of

infectious maladies

(C) A faclor lo be eliminated in

health care
(D) Anatural part of human life

The awareness of the need for good

sanilation

(A) 'Lead5 to sound public health

{B) Reduces infection in children

{C) Isnotneeded Incilles

(D) |snot possible in rural areas

Conid.
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40 Rehabiltation alter treatmant ol

diseasa
(A)  Avoildsinfection in athers

(B) Slrengthens the stamina of the

patient
(C) Isdone anly o refugees

(D) Adapts the palient o his of het

fife
Direction (Q. Nos. 41 to 50) ; R=ad the
following two passages and answer the
guestions thal follow each passage. Your

answer o these questions should be

based on the passagas only.
Passage — 1

Sgerales tends in

discussions to be @sso

particular idea u!ﬂac

based on questons, 8

transfer of information

sell ar herself

pupil to see the
In fact, Plato’s So¢ typically denies

that he is a char at all. He Knows

nathin at he actually has nothing to

0L -2B/38

imipan o anyone d he s wiser than BYyOrE

fine, il in becauss he s avware of his ow

asking other peg m the hope

{80 he says) th SOMBONE Who

S5£89E5 ge that he himself
A @wane o ing. Bul, in the event none
of the guestions ever tums out

lo Knovwe afghung wornf knowing, uniess it
Briicutar kind of expertise, like
ing or madicing, so-all thal ke
ds in doing 15 showng himsefl, and
the other parson too, if he's prepared 1o
listen property; that the other person dossnl
know what he thaught he knew. Howaver
there is always an invitation, whether
explicit orimplicit, for the newly seif-aware
persan to continue the |nqu1yj!nng with
Socrales, and this does al last begin to
resempble our notion of Socratic method -
the only difference being thal we introduce
it into a context which assumes [hat thera

are determinate truths to be leamed, which

we colld mostly list if called upan to do so

{ Turm over)



Socrales, by contrasl H.-.jl_lj_l?l_‘.l‘_&ﬂléll?ﬂ
knows nothing, but means it he is nol
merely walting for the other person to catch
up with him, and gently pradding him or het
in the righl direction with supposedly
reutral quastions. but is imsell actively
invelved inthe search. (We doin facl find
Plalo’s Socrates endorsing the idea of
E_I:!ur:ﬂhir& as turning the soul towards —
literally eanverting it to = the trufiy, but this
is entirely compahble with the idea of
learming as searching, and mainly serves
la emphasize the idea thal there
lruths oul there, as it were waiting
discovered

one idea thal is surely

Socratic.)

Questions on Passage — 1 ;
41 According o So
learming s

(Al Toen

(B} Toama Ith

42, Modern discussions hold thag "

Socrates’ particular idea gof

teaching %

Ay Allowsgdir ansfer of

Infoprfadion Iem teacher io

siudent
(B %sunﬁmanﬂemm
N h asking questions
- e Ezes particular kind of

medicine

:A\,prnrhae on shoe-making or
o

| Makes a person seek!

information

43. The socratic method of inquiry

invaives

{A] The idea of learning as
(B)  Making the othar Person learn

quickly

(C) Asking suggestive Questiong

() Testing if he is WiSer thanp

olhars

Contg



44 “Heknowsnothing, so that he actually characlaristic vices, Thus the arislocracy
has nothing to impar to anyone® are, in Amald's terms, Barbarians. They
refers to are noble in a sense, but chiglly interested
(A) Plato in external display — he SES

(B) Anstotle their codes of manne spirits
and their fiald sp in woafully

(C) Xenophon
= LA inadequate | igegece, and can

b (SGcrates

cancee af n istence than their

45 InSocratic thought wisdom isreally  gwn, No n tha middie classes, the

knowledae about ane's own Philistines. Again they are not whally

(A1 Imeligence vic Theydisplay the virtues of hard
m} .!m and nl aﬂthmp‘j’_ but IhE'!l' have thair

SIS na ness of vislon, they are lliberal
(C) xperice

in'spirit, and even in their philanthropy

() Experience
" hanistic and dismal. The lower
Passage - 2 asses, the 'vast residuum’ or Populace

As-things stand in the E !ans ET l as Arnold terms them, are raw and half-
developed. They have long remained

1869, society s divided into th

: : hidden in poverty and squalor, but they are
There is no overarching visi

olf fro

now emerging from their hiding places ‘to
unify and harmonize the

: assert an Englishman's heaven-born
social existence.

privilege of doing as he likes, and is

m the

As a rasult, eac
beqinning to perplex us by marching where

rest, and lacking other than self- .
it likes, meeting where it likes, bawling

rterest pach remaimgimmuned in is own

where Il likes, breaking wha
OL-28/38 :

likes'




Bty winch he found

Amoid dd not ke it

hard to distinguish from anarchy
Goodness knows what he would have sa&d
ular taste or of socdl mores al the
stan of the third millenmium

ForAmold saw culture as tha graal
unifier of society, releasing the bes!
netmcts of each dass and harmioniously
niegtating them. and in our time the
provezer of the inward goals we all need io
Produce & cdrve to personal pedection. and
nence our only defence agains! the
anarchy of unrestrained individual choice
a2nd selfishness (Rememberthat Amold
was the author of '‘Dover Beach’. and
befieved that public, dogmatic refigion had
nad iis day ) He aiso saw the =late
Socely pervaded with true culture, g
through which each person’s bogt =g
would be realized in a way 1

whan each simply purgue

ner
individual goals

Questions on Passage -

48, In the year 1855 Mglasses in

England
(A) Wer 2d
{B) Were against each

iC] Were striving logether lep
damocracy

(D) ‘Had noidea of culture to unita)
fham

Aristocracy g eregtalled as

Barbanans Id were noble b

.
they -.-.-r}r(;lur
i

(A) pimow migdedness

¢ Cre |
(B) Hﬁi&m their wealth and
?imémenh

AV

G wcessive interest in classical

4
Earning
/ ] x
llrl'
\ONY Pride in their ancestry

nhgtings of the middle classes
(Al Were narmow of mind
(8} Were highly intefligent
(C) Had nodeaof culjure
(B) Hard warking buf mechanical
and philanthropic but dismai

Vast residuum’ is the term Arnold

Uses to refer to
(B) Barbarians
IC) Philistines

{2} Palilicians




51

UL —2B8/38

According te Amold culture Is g

unifier of sOciety as it

(A} Releases the pest instincts of

eachclass

(C) Quashes alldifferences

(D) Permits doing as one (ikes
freely

Given below are two statements. one
levelled as Assertion (A), and the
other levelled as Reasan (R)
Assertion (A) : Substance is that
which is causa-suy, sell-existen

the conception of which does not

presuppose the concep

anything else.

Reason (R) : Th
substance implie a
salf-caused, self-ousien

conceived

[ the

which onéof the following Is

car

it (R) s not the correst

(B) Both (A e corract
and | pot/the correct
explarn M)

(C] A ol but (R) s not

nol carrect, but (R is

ciprect

\Zmrmv are two sialements, one

Igvelled as Assertion (A), and the
other levellad as Reason (R)
Assertion (A) : Social contract
theory is the view that persons’ moral
and / or political obligations are
dependent upaon a cantract or
agresment among them ta form the
society in which they live.

Reason (R) : Social contract theary
is rightly associatéd with modern
moral and palitical theory and is given

ils expesition and

Haobbes, Locke
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Tatemen

In tha corie of [he P 51
il i 1 ik I 1GaWIing
i
(A) M A} and (R) an afroct
ind R IHid e
explanation of (R

(B) Bolh (A} and (R) @ comect,

But {R) is nal the correct

exnlanation of (7).

(G} (A) is coreet. hul (R} s not
the comect

() (A) s not cor eel, but (R) s

correcy

Given below are twa stalements. one
levelled as Asgirtion (A), and 1he

other lsvellad 2 Reason | (R)

Assortian [A) : I_"-;|.r|-4r||l,nec~.1n1n call {
Ihe Indian movement Salvagrata, '1-3'
Ihat s o say, the Ferce which ]
s born of Trurh and Laova |'|1..."“.._
Mian: ViDlEnce s -

N

Reason (R) : Truth (satya) Imphias e
a?’m:' -

engenders-and therefors & ;—r'n-!uL
y - Ny

} I

lave and firmpness

a synomymi for lorce
Inthe corntext of ths § -;Q;,,r ;w'i—:—rﬂ-s
mlln%g i
correct 7 f ""-
i 1 _
(A} Batn (A unwmmd
aihd F correct
emlarra

which one of 1

(D)

(A) and (R) are corraec

Both
t (R) I8 nat the corrent
aynlanatonof (R)
is cormechapul (R} is not
LAY ",j_';. '_j""F_'l:?., il (R) is
il
pRRostiapgdre given in each

iming ha

propositions are true, select (he
ilt '*u? & in which the third
rl".‘-r.':--'-'tu_";- igcatly f s from the
-rl.:"ﬂti‘.-.lf. Slatements
AN A crows are black Some
i
- sNAREs are black Some
Snakes are not biack
'I_B_J Al men are morial EDCTE'E‘K

BamMan Socrates e moria|
Some animale ara fierce. Al
llons are animale All ions aro
fiarce

some policemen are sgfy
spoken. Some judges Bra
s0ft-spoken Same Policemen

are judges
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appro

Three propositions are given in each
of the allematives Assuming the
propositions are true, select the
alternative in which {he third
proposition legically does not
follow from the first two staterrienis
(A) Al books are edifying. Scme

books are interesting Some

edifying books are interesting
(8) All philosophers are fallible

Marx is a philosopher. Manxis

falible

{C) All lions are fierce. Some

animals are not fierce Some

anirmald are not lions

ximate =tantiation of justice

or th deaply unjust when

compares, with ideal standards —

(23)

Conser the inatitution of siavery
Jushce is an ideal w

fails to live up 1o

good ntenli sorfelimss

dizasirously
Which of 3 following
stalemer thie focl approphale

S

an
{A) WeRlways live in an imperfect

inSiutons

E {B) ;stu:e i% the operative lerm of

€} Justica is an ideal which the
world falls 1o five ug to.
(0} Institutlans fadl to approximale

ideal justice

The guestion of institutive justice
raizes issues of legilimacy,
procedure, codification and
Interpratation, which are considered
by legal theorists and by
philosophers of law. Another
definition of justice is an independent
investigation of truth. In a court

roam, lawyers, the judge and the




5B,
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are in dire fin

1HE \'I"Ea!" Jlﬂﬂiﬂlﬂﬂd ,h uﬂl AL
"."? Al 1‘ t"‘“ il -

{ would be sufficent ta -I
Independently invastigating he

their disIress :
truth of an alleged crime

Which oneg IS & *1
Which ane of the follawing s the

answer?
correct angwear ?

Y o 3R
(A Trustg |
(R) Justice is how il s codified %

(B8] (Justice Jﬁ,tu_gmnmw

=Fa® |||_'.§ r_'__l'

an divert them for the
(C) Justice is the interpretation of

tion of his happines:

legal thearists and

“| Trustee should not divert thiem ;
philosophers of law

f.:rr the promotion of --'5
(D) Justice is whal the Jury
happiness |
decides : i
(D) Trustee should not distribute:
Imagine that a person has been those resources in the manner

made the Irustee of = large estate their owner intended

the owner of which is dec 59

Indian secularism is a peculiar thing,
and the heirs are both i

In India, we canfuse secular,

its existence and In denfly | -
seculanzation ang secularism with

wealthy in their o , While

one another It moves away from the
&i50 baing immen il and

Western model of separation
between Church and State and

Makes certain basie principles. One

@l straits and that of them is 14
at

India as a state is
(24)

Contd.
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OL

are — state is not religious and that
all religions are equal before fhe slale
and 80 on,

Which one s the most: ,
feature of 'il']diﬂﬂ “‘ﬂu[lﬂtm 2

(A) Indian secularism accepls

separation between state and

religion,

(C) Indian secularism accepts no
religion.

(D) Indiais non-religio

Mademization of In
created 2 gmm from
‘hierarchy’ to ‘equ hoflsm

.mﬁgnaﬂsm' and

to this worlg!l

sl  The Fr]:n;alni of

transition however beed

2838

SMooth
Bnd involves tansions and
EV8N social break down areating an

urge fo re-define qiodernity

Which one of wefoll

sEcuiarism

widuality, histonicity, continuity

(C
ST ] and transcendence

(D) Helism, continuity, equality and
individuality,

You are the Principal of a Schoal and
you realize that the role of educatior
is multiple and complex. Still there
remains a problem with education
regarding marketabllity, public goo!
and so on. You propose education a
welfare because basic education|
ore such public good for which ther
is a need 1o appropriate collective
and go beyond what the priva

marketzwould foster.

{ Tum ove



Wihich ane of ma alowing s o
prsregquinie o esducaties as
vl

) G prope’ wdueEston
s tham nol 16

Al Education s weifsme & pusis
Pood which les in fhe prvase
rmnchisty.

B Educato an wilsm depends

¢ Yau ate ganiat meoher n &
> d wchoel m:wu“nummnr

{Cy Edupstion as weifaje m. e s wheo are f,_ﬂ!‘!l_'_“_iﬂ\"

shaflanged Hew wil] yai like Lo
canynen fho Pricipal and memcan
af iha Scheol Cormities to halp

iich studentn ¥
(A Dmcoss tho prablems with
such shudants and give tham
ansoutEgRment i aolve Thei
p‘m
By Tivcue i robiama Wi he.
o Py
1C) Leave the students on their
orwm efforts, *
D) Give smational support 1o
fem  y
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Flndth&mm,d“mrmh
given aflemaifvas : “ C)) Mother
i A
13 3
® P 128 3 O Wits
(A} 10
{B) 15
(c)! {20]
{ your initial position
() 25
pitr () of your initial position
VHOEIST
In a certain code #ﬁad@n IS est of your initial position
written as VGCEJGT. How is [ o SN
CHILDREN written in » e
SRS | N
(A) EJKNEGTP
(B) EGKNFITP

VWhat s the product of the numbers

which balong to three figures anly 7
(B} 162
(C) 648

(D) Moneofthesa

{JL-!E-BB; (27) { Tum over)
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OL-

It the fallowing fiva words ara

amanged in alphabetcal order, which

word will corne in the third position 7

(Al Draw
(C] Read

(D) Back

Study tha following arrangemen

carefully to answer the guestion

MIESRBIAKTE#ISUDING

E%FHZ@BW

How rrany such conscnants e (Mare

in the above sequence each 5f whic

is iImmediataly followed by a
and. immediately pr
vowel 7

{A) NIl

{B) One

{0}

d b

a

T2

{28)

it is possibie 1o farm a numbse.

I
, perfect squgre of a wo-digh

il
.r._.r|| L e

e number US| 8 nd, the
fourth and (| nth Igis of the
sing each only

Aurm ber TEa1

cn:ufﬁ‘” f"We following is the

sacond digkig®! that two-digit odd

':L,.I'I'-; ?

N/
ﬁ:; ]
() 7

(D) 'None of these

Find the missing character

<Y
23
£3)

(B) 128

(C) 1RC

() 18c

Contd:




73, IWinan‘examination hal, you fing that
the question paper s too tough te be
answered satisfactarily by you, the
best thing to do for youis to -

(A) Tell the minn that the
questions are oul of course
(B) Provoke the candidates 1o
walk out of the examin
hal

74

6.

(28]

choasing a figure from
ﬂm;ﬂﬂ'ﬂa four alternatives, which

- B -

o & - ]
unﬁ o 9 nﬁ
Ay B © D

What is the number of rectangles in

the following figure 7

=sed}

(A &

B8y 7
ey 9
m 1

{ T over,




e

11 Chooss the allemalive which monl

78

closely resembles the mirror T L

of the given cambination

DESEMRTIRN

(A)  IMEOKMALIOWS

@) mFoAMATIONZ
1C) EHOITAMAOMI

(D) 2u0ITANSDANI

Looking into a mirrar, the clock

shows 8 30 as the time. The actual

lime is

(A 2:30 2:30is
———= the
(B); @:30) correct
(C) 4:30

(D) 8:30

— : .
Ale 1ale | |a ‘{
: Al 'f? -..‘|EI

[
Choose the gorrect mmi

ihe fig. X from the four allermative

(A), (B) (C)and (D)

(A) (B FQ) (D)

BO. U I% { arithmeltic mean of thres
Ay numbers is equal to 5 and thes

sWfidard deviation s zero then the
r'jurnhers are:
v
[A) 4,586
(B) 3,57
iC) 55,5
D) 1,59

o)

MAINS BATCH FOR OAS STARTS 5TH DECEMBER AT BHUBANESWAR

AMND 6TH DECEMBER AT CUTTACK. GENERAL STUDIES(MORNING AND EVENING
BATCHES), ODIA COMPULSORY, ENGLISH COMPULSORY AND ESSAY

PUB.AD, GEOGRAPHY, SOCIOLOGY, HISTORY, HOME S5C, LAW EDUCATION

LAST YEAR{2011) RESULTS: RANK 58,15 AND 49 MORE RANKS

OL-28/38
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o
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sohag_sundar_nanda@hotmail.com
Rectangle

sohag_sundar_nanda@hotmail.com
Text Box
2:30 is the correct ans
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